£ a— K 16200708

B57ME I8

~B2 bRt~
RUERIR

=t

1%
'a‘l’ig

ATRAEREFAS

1 H: Y2848 H6H (1)
= % EBRARLEISARERE EFEHY (201020)
£ . E\RW EATEELEAES NPO Y E N THIR B WS
+ B MR RS
h B R AR—Y LR EHES LN« 2 A
®OH K NI BB
SOk . HEEEAE
B - O KRS TR S Lz itk
AR f&H Uk S0E% K4 B& i@ L JOE:E: ik
s/6 | T2 | om0 i | 4 | RAEE 13827 | KR&H
100m 2 4
8/6 E'31?2020. SF ] s 12191 il i | k| R 1B/2r | R&H
m 24E
8/6 | T s | semss | Il Ay | & | R BFP1 | KA
m 24E
a6 TTRE s spirma0 | Ak M| & {ji SITE 66 | KAk
heE2 - B4 | L o = LI 76 "
8/6 ik N 4m96 M 5= LS o 4m90 KA
wE k5
i 1 AR - " e £H JERE s
8/6 | 4 x100mp | W 6872 hE pE | X ) B8Fb 04 K&
er R BT
— o " o b G S v " A
8/6 900m N 28 FV 33 s AT % o 4 28 ¥ 80 K
W7o Rarys gy
BEZ K% LA BaE m/s SKUBR°C TEEY
8:40 FaL W 0.8 30.0 62
9:00 FaL W 1.4 30.5 60
10:00 Ei 3] 1.4 31.5 54
11:00 Fil W 2.4 34.0 62
12:00 Ei 3] 1.5 35.0 46
13:00 Hil b 1.7 35.5 43




by B E KB
BUEEH R KIIEH
BEENR KIIEH
(BER] FH2848H6H ERBHE KIIEH
(XEEK] BERT SERTHERE SRTHEZEE82 RBRER—ER SERE HMAERE
(GR: K237 X 7 B8] BIATREAR
253 2% 3 4fx 5 6 71 8 fr
A/B #_H A KPR KA PR i KB PR i KB PR i B KB PR iR EEFE iR EEFE i R KB B
8/ 6 —EETF —0.6 fa FIEiE (2) 3.89
100m EREZEER
8/ 6 0.3 S8 HFQ 28.33 B0 FMETE(2)  29. 13|fFiE H1E(Q) 31.40
200m EREEEER 6R EREZEE K AlE2ES
8/ 6 =R 37 (1) 6:02. 00
1500m AERES
8/ 6 BRE T (2) 4.73(+0.8) E3H ZL(2) 4.60(2.0)
SENEBE EREEEER EREPEER
8/ 6 =3 Z0Q) 6.56 1A =R(1) 5. 66
Rt i EREPEER B
8/ 6 INEAELRT Al £Z @) 16.41 L& %1 @ 16.44 % %A@ 16.74 AL HF=@  16.95 [k T @ 17.05 °Z | @) 17.08 580 & @) 17.10 0 &8t (4) 17.34
100m LR/ LR/ TN/ BB LE/N HE/N BB TN
8/ 6 EH £0) 3:53.05 %R EZ Y 4:04.88 RE #HIE @) 4:08.32 #4)1| BHEREFE 4) 4:24. 713 =% BZ= 4) 4:42.36
1000m RN =B BB HE/N LE/N
8/ 6 MY BE@ 2.47G1.1)
SENEBE TN/
8/ 6 LR/ 1:07.10 3EE /N 1:00.48 FHE/ND 1:11.04
4x100m R 46 (4) R AR (4) FE 8
=5 BE©) RE BEW® Al t2E®
full £ 4) Al HTE @) HIl KE @)
LE BH® BE B ) Bl BAEE @)
8/ 6 INEHELTF -1.2 |58 #E0) 15. 30| F4x 1M (5) 15.44 Ip iy B (5) 15.55|18 B (5) 16.66| KT 5 (5) 16. 82
100m BEN HE/N RN ERFEN R BN
8/ 6 B WAE(G) 35347 &R fEE(G)  4:20.88
1000m EREN RN
8/ 6 B AR (5) 32.54
Y an Yy AR TN/
8/ 6 SH/N 1:04. 45
4x100m tiE BE ()
g BEG)
tiE BEEG)
FIE DG
8/ 6 INF6ELT +0.8 [#&R =#(6) 1474/ &L 5% 6) 14891518 B4 (6) 15 19/ &t/&® % 6) 15.50[fEX% =31 (6)  16.16
100m NG =B =B =B BN
8/ 6 I BE®) 3.24(+1.5)
SENEBE BB
8/ 6 2 £E6) 45.54
Y an Yy AR TN/
8/ 6 RE/N 1:01.54
4x100m HE &< 5 (6)
LR CE 6
g1l 57 (6)
fEE B4 (6)
8/ 6 hPEIELF +0.9 fRiE EBEX) 14.07 T %0) 14.08 (7% £HE (1) 14.20 k="K EF() 14. 45| @A FE ) 14.86 B R & (1) 15. 04| BH H7iaH (1) 15.30 %% &7 (1) 15. 30
100m SEBEME T A B R B RIGE EE N 1 RISE 1R AL E N B RIGH
8/ 6 E MEB(1) 418002 A &) 402+1.0) | BER B(1) 3.97(+0.7) | ARE (1) 3.58(0.0) Z% Z=(1) 3.54(+0.4) #%H BF (1) 3.35(-1.5) AE BE(1) 3.26(+0.8) k=T &HE(1) 3.18(0.7)
SENEBE AN e 1 RAE R 1SR AL 1 RIEHE R AEH B RIAE B RIEE ERH
8/ 6 ERILED (A) 56. 72 15 R ILME S (B) 1:00. 26 {ERFAEER G 1:00. 32 EFR & 1:04.17
4x100m WwE MEDBW) GR &2 BE() w4 (1) A B ()
RE £8 (1) "H# #HH (1) #E () K (1)
FHE BE1) ®E 87 (1) BR B(1) A0 #F 1)
ErA EF 1) ARE A1) ER10) s & (1)




by B E KB
BEEHE KIIEH
BEENR KIIEH
(BER] FH2848H6H ERBHE KIIEH
(XEEK] BERT SERTHERE SRTHEZEE82 RBRER—ER SERE HMAERE
(GR: K237 X 7 B8] BIATREAR
T 2 3 a1z 5 i 6 i 71 8
A/B #_§H B#E K&/ PR KA PR i KB PR B KE PR iR KB PR i KA R i KA R i KA FE Il
8/ 6 | HF2 IEX =0.9 ml S50 Q) 2 9THF = (3) 3. 74 FH F&EQ) 380 &H E= () 106 =K ZEQ) [AETGIEI) 130 FH =& Q) 168 AFE E5 1) 475
100m R GR e R EM T B B B ERIEE EF ERAE S
8/ 6 Beh 2(Q) 4.96(+0.3) & 2= (2) 4.46(+0.6) M FRE(2) 4.03(+0.3) 7% =ME(2) 3.79(-0.4)
SENEBE R AN LS N E N
8/ 6 BRI S 54.04 £ 55.01 R LKEES 57.44
4x100m #E KE (3) AHE F£0Q) EE ER Q)
il S Q) HHE BEQ) B Fie (2)
A BE0) N EQ Bl 483 (2)
Ae (3 =k BEEQ) 5 E(Q)
8/ 6 hEA@ELF -0.3 ® T (2) 26.58 F)Il HE (2) 29.22 |8R:E BE (1) 29.66 2T £ () 29.89
200m RS GR EBEME & EEHE S EEHE S
8/ 6 N E Q) 2:29.39 i KE(2) 2:55.47
800m ks ks
8/ 6 —&XK #B(Q) 5173045 £H Q)  5:27.08|if8% MR Q)  5:30. 008K &#TE@B) 6:15. 6780 E5G)  6:19.46
1500m B AN LS E N Ef B
8/ 6 N ABQ 1.41 548 &m () 1.10
SEE B EMEHE S RS
8/ 6 A BE0) 19.99 B4 %% (2 16.22
Y 4 yhAn- e R AR R IABE R




Y2 F

(REB [8H6H 7770 |
100m
=ECER (GR) 14. 88
R

[ 18] AE +1.0 [ 248] B +1.6

IE L-v | No. 4 RA R&/B%E JE L-v | No. K 4 RA RE/BE

1 6 21 £/ #h4) 16. 44 1 2 22/ f £E @) 16. 41
91N TY/ R/ IV T3 LR/

2 2 26 F ZA @ 16. 74 2 3 60 FH & 4) 17.10
198 494 RSN Ty FEED

3 5 62 Z81lL HF @) 16.95 3 4 25 KW Ex (4) 17.34
AT TAY FEED TAnt ¥ m/NEF

4 4 20 B F# @4 17.05 4 6 8 ik tE®) 17.35
#h Fto IR/ AN Tt HFHE/N

5 3 T &4 17.08 5 7 M7 BERE ) 17.38
T D Y HFH/D N AR+ REN

6 7 63 {hHE #hZE4) 17.59 6 5 61 B[/ B (4) 17.39
The 12" n FEED ng 3yl FEED

8 28 YA #kan (4)

fU9F TEh /N RI5




Y2 F

100m

BALLL—R

JEfL| No. K £ HEFE R A & (R) o # | IEs
1 22/ Rl @) LR/ 16.41 (+1.6) 2 1
2 21 LR %75 (4) LR/ 16.44 (+1.0) 1 1
3 26 ##HF ¥R @) S ZN 16.74 (+1.0) 1 2
4 62 8lL HI =W BN 16.95 (+1.0) 1 3
5 20 B F#R (4) LR/ 17.05 (+1.0) 1 4
6 14E ZEW@) THE/ND 17.08 (+1.0) 1 5
1 60 FH & 4) BRI 17.10 (+1.6) 2 2
8 25 P ERK (4) S ZN 17.34 (+1.6) 2 3
9 8 Bk tE2 1 THE/ND 17.35 (+1.6) 2 4
10 MR FEREW) RE /D 17.38 (+1.6) 2 5
" 61 B BH @) SEEN 17.39 (+1.6) 2 6
12 63 {hME #IE @) BRI 17.59 (+1.0) 1 6




INEEEZF

100m

=5 (GR) 14.0
R
BAE -1.2

IE L-» | No. K 4 RA o I

1 6 1055 #HEG) 15.30
Wy 12 % KRN

2 5 10 F18 1085 (5) 15. 44
I HH/N

3 3 37/ BX (D) 15.55
vy 74t BRE/N

4 2 36|12 Ex(5) 16. 66
PY3 193 BHRA/N

5 4 35/ KT 15 (5) 16. 82
/9% U4 EHRA/N

8H6H

111:20 |




INFEOEFEXF RE
100m

8H6H 111:30 |

=ECER (GR) 13.54
R
AZE +0.8

IE L-v | No. K 4 RA &/ BE

1 5 30 HER E#H(6) 14.74
347 3F /BN

2 2 43 11 7% (6) 14. 89
NEYY 1 REN

3 6 42 158 B4 (6) 15.19
ying 32 % RE/

4 4 4R 2% (6) 15.59
¥ing 4+ RE/

5 3 66 fEXEF E3I(6) 16.16
v/ 74 EED




Y2 F
1000m

£508% (GR) :51. 80
R

& No. K 4 kS otk HE

1 1 40 Z@ £@) 3:53.05
hh 3 BRI/

2 4 45 %R BZE @) 4:04.88
7H3 197 RE /M

3 2 64 EE #E @) 4:08.32
Th't ¥ ah FEED

4 3 9 #Il BARE (4) 4:24.73
hehT 0 AR HFH/D

5 5 B =F B @) 4:42.36
347 191 IR/

8H6H

110:05 |




IESELF
1000m

KR @R 3:17.2
iR B
W No. E 4 RS 2o s
T 6 39 mM G 3:53.47
b 7 19 RN
2 7 38 ;AR fEE (D) 4:20. 88
£347 11 RN

8H6H

110:05 |




INBLEZF RB 8H6H 12:35 ]

4 x 100m

=58k (GR) 1:02. 31

aliii

B Vv-» % No. K # o I
1 4 KEND 20 B FHR(4) 1:07.10
Eothyan #h Ftn
23 =% BE @
NSRS
22 Al £E @)
WA 13
21 LR @)
9INg 7Y/
2 3 HEEN 63 {hHE HEY) 1:09. 48
L WED) The 12" n
64 RE BE®@)
T E Y ah
62 AL HT=@
AYY 7AH
61 HE BTy (4)
ng 3yl
3 2 ZA/ND 17 hiE &W@) 1:11.04
EVZAVED] It
8 Ak tE @)
ANY T
11 il XE@
Y FoY
9 #)Il HEF@
b7 TAh




IDEEELF
4 x 100m

=508k (GR) 58.8
R
B Vv-» Frm% No. K % o I
1 6 FHHE/N 13 Ei& &) 1:04. 45
EVZAVED] h3Y 39 19+
12 & BB
NTh 1vh
14 LigE 25 (5)
h3v A 74t
10 FiF D5 0)

7Uh 31

8H6H

112:35 |




IDECELF
4 x 100m

=508k (GR) 56.4
B Vv-» Frim% No. K # Lo I
17 R8I 46 THE =< 5(6) 1:01.54
Py AVED] 1F1h #43
41 JtIR 2% (6)
g 24t
43 21 5% (6)
NEYY F+
42 18R B4 (6)

ying 337 %

8H6H

112:35 |




INBLEZF RB 8H6H - 9:00 ]

g2k

2542 (GR) 3.80

B e ton - E % REL - - -3 % _g_gg g 4+ 5 & E® B
1 1 271y BE @) X 2.47 2.41 2.47 2.47
awy 7ut m/NEF/ +1.1 +0.8 +1.1 +1.1




INE6EFZF CREE 8H6H £ 9:00 ]

g2k

2542 (GR) 4.38

B e ton - E % REL - - -3 % _g_gg g 4+ 5 & E® B
1 1 65 ;B = (6) 3.24) 2.73 2.98 3.24 3.24
¥4 743 BN +1.5 0.0 +1.4 +1.5 +1.5




INEEEZF

. o o [(REE 8A6H 79:00 |
1) [ —
I IN Yy IR IR
IEfE | | ton - E % FEL ERTRN P S %’E}%ﬁ 4 5| 6 | =g =
11 313% EHFG6)
gy N 32.54  26.48 29.17 32.54 32.54




INECEZF

. . . B 8HG6H [9:00 |
4+ ) —
I A Yy IR MR
B e ton - E % e - - -3 %‘Eﬁ%fi -4~ 5- | -6~ mER B
11 2982 286
#0129 TNER I 39.61 45.54 X 45.54 45.54




EIY

%% 8H6H 9:00
700”’ SRS 8H6H 11:40
2342 (6R) 13.5
FiE EBEKE 348 0% + 8 CIBLIBERE o: %1 LIEEBRE
[ 1#8] &% 0.9 [ 248] &S
& V- No. : ST
vy W gi (4?) FR% ;E%/ﬁ%% & L-y| No. E £ FR% R BE
P —— .12 g 1 8 123 $2'F Z:%20) 14.10 q
) 3 01 EE\ s I AY V8 47 EEMESD
#4319 1o TG B 15.39 ¢ 2 6 86 iE2 K EF() 14.74 q
34 s EE anan 15.62 g 3 2 8 w%?;ﬁtm AR 15. 64
B — ;ﬁf: :g%) R LR WK HTF N '
xe P 16. 38 4 3 112/ 8% 7 () 16. 07
5 5 102 BR =() o 17.32 o 75/ s
el N : 5 7 T0AM ) 16. 44
6 6 90 ﬁ\il)‘%ﬂ) mAEE 18.12 6 5 100 ﬁ‘ﬁyiﬁﬂﬁﬁbgﬂ) B
%) 7En N IS AT R 118
7 4 84 ;’HJEEI BZAE (1) 17.96
175" £t R LR
Eﬁsm] Ftiz 0.0
b=y o. K B
1 4 122 fRiZ= BB (ﬁ) s ;E§4/1ﬁ§?
R MBS '
2 2 83 o ME FEHE (1) 15.05 q
FhE 1} R LR
4 6 82 &% &+ (1) 15.48 q
yEWALE! ERILES
5 5 103 | #B5H 2= (1) 16. 37
9 7y 3 15 R F &R o
6 3 113 KE & (1) 17.22
WA 19t 5 o
IE rjqﬂ 2909
b=y o. K B
1 6 122 fRiZ= BB (ﬁ) s ;E§4/Oﬁ$%
R MBS
2 5 123|1#TF &%Q) 14.08
AV 7 EEMES
3 4 88 #F xH(1) 14. 20
18 3t R LR '
4 7 86 k2K E¥%(1) 14. 45
#94 392 15 R I B o
5 9 83 o E [EHE (1) 14. 86
FhE bt R LR
6 8 101 BR #&(Q) 15.04
#1319 15 R F &R o '
7 3 87 BH HHH() 15. 30
194 33 R LR '
8 2  2pH BT 15.30
IR AN




BEIES— T KT

100m

iR B
A 0.0
W U=y | No. E 4 RS =o =
1 7 124 = #0HEQD) 15. 40
U5 e

8H6H

19:00 |




HE2 SEXF

P 8H6H 9:15
RS 8H6H 11:50
100m
RECEK (GR) 13.217
TR BBEE 348 0% + 8 O:IEHIEEBE o: &4 LIEEBE
[ 148] & +0.8 [ 248] @& +0.4
M b~y | No. E £ iy £ BE/HE B L] No. E £ iy £ LoF Vg £
1 6/ 107 @ &7 (2) 12.77 q 1 4 104 B EQ) 13.55 ¢
347 i/ 5 L E £ R&# ¥Hh 73 5 L E £
2 5 M=K #E(Q) 14.09 g 2 5 12 5HE BxQ) 14.11 ¢
% #rh E V8 43 E
3 4 106 BH BEQ) 14.58 ¢ 3 3 93 il #/E(2) 14.83
194 Fh% 5 L E £ POV 19 1 FLIA R
4 2 92 B FRER (2) 14. 69 4 6| 118 {R@k M|k (2) 15. 54
¥ 1R 119 U4 ER
5 3 116 fni# w3 (2) 16. 80 5 20 N74E RxEQ) 16.23
M /)3 ER 49 433 ER
1 114 %[/ HiEeEQ) 6 7 80 LA &% (2) 16. 41
115 2%h ER x5 ¥ 193 E
[ 3] & +1.2
B v~y | No. E £ iy LoF Vg £
1 2 NER F£Q) 13.73 ¢
7U3 44 E
2 3 95 HHf % (2) 14.32 ¢
L5 7H 1R
3 4 171 %8 =82 14.49 ¢
ST E
4 5 106 #H KE (3) 15.14
vy ) 7h) 5 L £
5 7 94 fxlg &R (2) 15. 26
W VY % 1R
6 6| 115 KZE HX Q2 16.13
Wk 7t ER
a3
A& -0.9
M| b~y | No. E £ iy LoF Vg £
1 7 107 AL $H7{0(2) 12.91
ST 4/ 5 L E £ R&H
2 4 104 B EQ) 13.74
yHh 73 5 L £
3 6 AR FEQ) 13. 80
713 44 E
4 8 12 5HE BxQ) 14.06
I3 313 B
5 5 M=K #EQ) 14.32
% #rh E
6 9 95 HHf % (2) 14. 40
L5 7H 1R
7 3 171 %8 =82 14.68
STRY) E
8 20 106 B5H BEQ) 14.75
194 1% 5 L £




HZE2 SFELS—T %

100m

ThY ¥ EVh

EEME T

BR +1.2
IE L-v | No. K 4 7)€ R®’/BE
1 8 120 RIS % (2) 14.60

8H6H

1 9:15 |




BERBLF

200m

=ECER (GR) 28.10
R
A% -0.3

JE L-v | No. K 4 RA R/ BE

1 3 107 Ew Hmim2) 26.58
I3V H/h ERFEERF AEH

2 4 121 F) AEQ 29.22
3v7 T h AEMES

3 20 122 R BEQ) 29. 66
14%°7 1) AEMES

4 5 123#&TF g8%Q0) 29. 89
M V8 7 AEMES

8H6H

110:20 |




pEfES— T KT

200m

EE 0.3
Ig | V-2 | No. K 4 7)€ K&’ BE
1 6 120 RIS % (2) 30. 46
Ty v tvh HREHIE T

8H6H

110:20 |




PERBLF
800m

234 6R) 2:23.8
R
0E V- No. E # Cd—£3 L Y Ed
1 4 19 FNl ZEQ) 2:29.39
3947 1Y Ep
2 3 78 it K& (2) 2:55.47
L5 32 % Ep
2 A=A BEO)
% b Ep R 15

8H6H

12:15 |




PERBLF
1500m

=5 (GR) 5:17.66
R

NE No. K 4 RA o I

1 5 16| —ARK 18 (2) 5:17.30
19k v pIT Eo AEH

2 4 94 2y %R (2) 5:27.08
W E VY4 ERILES

3 2 91 Ek =& Q2 5:30.90
k' y 3 ERILES

4 1 13/HEKR #91E(3) 6:15.67
9% AN Ed

5 3 153 =5 Q) 6:19. 46
T4 h)Y Eo

8H6H

111:00 |




R E L F
4 x 100m

RECEK (GR)

aliii

v

R4

58. 04

E #

8H6H

112:55 |

K&/ HE

W v-
1

2

BRILBEH A
Y1y 139397 29A

89
88
83
86

skt MESB0)
391 bt
#E B ()
1t b

tHE BxEd)
th5 vt
ErK 8F(1)
¥+ Fana

56. 72
AEH

BRILET B)
Y1y 139397198

87
82
85

2E 2B ()
1747 73

BH AlaH)
1A 33

2H g7 1)
A/ 3
ARE 1 1)

o 5 1y

1:00. 26

1B RFARRH
ZP N PR S

100
103
102
101

HHE =i (1)
g it
R EE)
VYNURUV AN
BR ZEQ)
#h3 74

BR &
#1319

1:00. 32

BRH
ZPAEEY

110
113
111
112

AP B
w19 Ut
KE &E )
IR 291
kO FF 1)
R F I
B a7 (1)
by 73

1:04.17




P2 EHF
4 x 100m

=ECEk (GR)

aliii

v

R4

52.93

E #

8H6H

113:05 |

ks Vel

W v-
1

5

1B RFRRH
ZP N PR S

106
107
105
104

#MH KEQ)
vy h ThY
Bl B 2)
I3V /0
aH 250
194 Fht

B Z@Q)

Ath 13

54. 04

Edh
1h

7
72
79
74

FH F£Q)
T8 M

HHE 2%0)
W 333

Il R Q)
EV VY
=K ®#EQ)
VAV

55. 01

BRIGBEH
Y1y 139)39F29

91
92
93
95

g 2RO
wky 3k
Hh FRE(2)
4th 2

FHl 8% (2)
vy 19t
% (Q2)
VL7 744

57. 44




HZE2 SFELS—T %

4 x 100m

B Vv-» Frim% No. K #
1 6 FEMES 122 #RiE BE()
413979 4¥19 14497 11

120 rhig 27 (2)

ThY ¥ Evh
121 Fl HEF Q)

EV VRN
123 #TF &%)

M V8 7

R&/BE
55.28

8H6H

113:05 |




PR ELTF 3 B 1= R

ZE & Bk

=58k (GR) 1.50

aliii

NEH S - E % FES 11{;%) 1m05| 1m10| Tm15] 1m20 | 1m25| 1m30| 1m35 1m38| 1m41 263 .
1 2 121151 AZF () - - 0 0 0 X0 |XX0 |0 XX0 X0 141
vh7 I h AEMES XXX )
2 1 112 545 &R (1) Y 0 X0 XXX 1.10
by 73 ERF )




h22 | 4F Zr F B3 8H6H 11:30 |

g2k

=508k (GR) 4.64
e
| = oS = q o _a_ 3E®D e T A =
B4z | B ton K 4 g4 1 2 3 B=s 4 5 6 so8% e
1 1 893kt M 5b(1) X 4.18 4.08 4.18 4.18
91 a1 ERILES +0.2 +2.1 +0. 2 +0. 2
2 1 100/ 54 =45 (1) 3.96| 3.96/ 4.02 4.02 4.02
N htx e R AEH +0.1 +0.7 +1.0 +1.0 +1.0
3 12 101 BR &0) X 3.85| 3.97 3.97 3.97
#4319 ERFEERF -0.9 +0.7  +0.7 +0.7
4 9 85 A{RHE (1) 3.58| 3.31] 3.53 3.58 3.58
o 4 pIT ERILES 0.0/ +0.2| +0.4 0.0 0.0
5 4 103|&p5R £ (1) 3.52 3.54 X 3.54 3.54
Y 1Y 3 BRAE D +1.7 +0.4 +0. 4 +0. 4
6 5 82 &% J|F() 3.35| 3.33] 3.21 3.35 3.35
A¥ /) v4a ERILES -1.5 -0.7| +0.8 -1.5 -1.5
7 2 8122 EBE() 3.26| 3.14] 3.00 3.26 3.26
9749 73 BRILED +0.8) +1.0 +1.2 +0.8 +0.8
8 6 113[KE &% (1) 3.18] 3.11 X 3.18 3.18
I 191 ERH 0.7 -0.7 +0.7 +0.7
9 8 110 A4 5= (1) 2.74) 3.16) 2.71 3.16 3.16
w19 Ut ERF 0.9 +1.9 +1.2] +1.9 +1.9
10 7 83| H BEE1) 2.81 3.09 2.95 3.09 3.09
Ths nvt ERILES -0.7 +0.5| +1.5 +0.5 +0.5
1 3 102 2R &) 2.70] 3.03| 2.69 3.03 3.03
b3 74 ERAEERF +1.0 +0.9 +1.5  +0.9 +0.9
120 10 111ka FHFA) 2.62| 2.66 X 2.66 2.66
IYF 3 ERF +0.7 -0.4 -0.4 -0.4




HEFELS— T ZF B BAGH _ [11:50 ]

g2k

B e ton - E % REL - - -3 % -Eé@ g 4+ v & E® B
1 13 124\ =% #bHE(1) 3.16] 3.59 3.03 3.59 3.59
7 Ha EEMED -1.8] -0.8] +1.2 -0.8 -0.8




h22) 34F ZrF RE 8A6H 11:30 |

g2k

2542 (GR) 4.90
B e ton - K % REL - - -3 é _'E‘]_gg g 4+ 5 & E® Bz
1 5 104 Hp = (3) 4.83] 4.70] 4.96 4.96 4.96 ReH
A1 313 e R AEH -0.9] +0.3] +0.3 +0. 3 +0.3
2 4 95 HH ZE(2) 4.40| 4.46) 4.45 4. 46 4.46
AYh7 714 e RILEES -0.1] +0.6| +0.4 +0. 6 +0. 6
3 1 92 Eh REER (2) 3.80| 4.03 3.76 4.03 4.03
4%h va BRILESD -0.2| +0.3] +1.3 +0. 3 +0.3
4 2 9158k =& Q) 3.79 3.7 X 3.79 3.79
by 3k BRILED -0.4| -2.1 -0.4 -0.4
3 106 #% K2 Q) R5
99 ) 74 5 R EER




thF I XK F B3 BAGH __[10:30 ]
v A" YyIAA-

X508 (GR) 30. 66
B e ton - E % e - - -3 %‘Eﬁ%fi -4~ -5- | -6~ mER Bz
1 1 105/ 5H#H 25 Q)
L:{;ngg () & R &R h 15.321 19.99 17.87 19.99 19.99
2 2 93 I #8% (2
BorE 194 18 B 11.441 13.04 16.22 16.22 16. 22




— % F
100m

=58k (GR) 13. 1
ER 0.6
Mg | V-2 | No. K 4 7)€ &’ BE
1 2 132 ¥80O FIHETE (2) 13.89
E9 F Uth BEREFESKR

8H6H

112:00 |




— % F
200m

£508% (GR) 28. 80
R
AE -0.3

JE[ v-» | No. K 4 kS ik HE

1 9 131E]RE #EFOQ 28.33
14¥°3 Y39a ERSZFESR REH

2 7 132[480O F#ERE Q) 29.13
ES F Uth ERSZFESR

3 8 138 Bk HEQ 31.40
1M 238 AEZEE

8H6H

110:20 |




— B ZF B33 BH6E 700 ]

1500m

=ECEk (GR) 5:32.88
-] No. K 4 7)€ KR’ BE
1 6 139 =i R ®) 6:02.00
Nes/lY BEXES




— X F -

8A6H 111:30 |
=3
ENEEE
2542 (GR) 4.85
B e ton - E % REL - - -3 é _g_gg g 4+ 5 & E® Bz
1 2 1311808 HF () X 4.73 X 4.73 4.73
14Y°3 Yaga BREZESKR +0.8 +0.8 +0.8
2 1 130|553+ =N (2) 4.21) 4.60 4.38 4.60 4.60
734 % ERESEER | +0.1 2.0 -0.7 +2.0 2.0




—BZF

B3 [BHG6H [{1:30 |
2542 (GR) 8. 66
B e ton - E % e - - -3 % _'E‘]_i‘gﬁ -4~ -5- | -6~ mER Bz
1 2 130%# ZRQ
) 1 . ;?}f:#; " RS 5.87| 6.56 X 6.56 6.56
VNS 3
Wt 39 IS 5.32 X 5.66 5.66 5.66




	決勝記録一覧表
	小4-100
	小5-100
	小6-100
	小4-1000
	小5-1000
	小4-400mR
	小5-400mR
	小6-400mR
	小4LJ
	小6LJ
	小5JT
	小6JT
	中1-100
	中1-OP100
	中2,3-100
	中2,3-OP100
	中200
	中OP200
	中800
	中1500
	中1-400mR
	中2,3-400mR
	中2,3－OP400mR
	中HJ
	中1LJ
	中１-OPLJ
	中2,3LJ
	中JT
	100
	200
	1500
	LJ
	SP

